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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the various government policies and 

programmes for the welfare of women in India. 

Hkkjr esa efgyk dY;k.k gsrq fofHkUu ljdkjh uhfr;ksa vkSj 

dk;ZØeksa dk o.kZu dhft,A 

2. Describe centre-state administrative relations in India. 

Hkkjr esa dsUnz&jkT; iz’kklfud lEcU/kksa dk o.kZu dhft,A 

3. What are the problems of National Integration ? 

Discuss in detail. 

jk”Vªh; ,dhdj.k dh D;k leL;k,¡ gSa \ foLrkj ls crkb;sA 

4. What are the causes of low agricultural productivity in 

India ? Give suggestions to increase agricultural 

productivity. 

Hkkjr esa fuEu d`f”k mRikndrk ds D;k dkj.k gSa \ d`f”k 

mRikndrk esa òf) gsrq lq>ko nhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe poverty alleviation programmes in India. 

Hkkjr esa xjhch fuokj.k dk;ZØeksa dk o.kZu dhft,A 

2. Discuss the objectives of New Industrial Policy in 

India. 

Hkkjr esa ubZ vkS|ksfxd uhfr ds mís’;ksa dh foospuk dhft,A 

3. Critically evaluate the importance of appropriate 

technology. 

leqfpr ,oa csgrj rduhd dh egŸkk dh vkykspukRed 

leh{kk dhft,A 

4. Write a short note on family welfare programme in 

India. 

Hkkjr esa ifjokj dY;k.k dk;ZØe ij ,d laf{kIr fVIi.kh 

fyf[k,A 

5. What are the main elements of energy conservation ? 

Explain. 

ÅtkZ laj{k.k ds izeq[k rRo D;k gSa \ le>kb,A 

6. Evaluate various efforts of administrative reforms in 

India after independence. 

LorU=rk ds i’pkr~ Hkkjr esa iz’kklfud lq/kkj ds fofo/k 

iz;klksa dk ewY;kadu dhft,A 

7. What is MNREGA ? What are its challenges ? 

^eujsxk* D;k gS \ bldh izeq[k pqukSfr;k¡ D;k gSa \ 
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8. Write a short note on the “Politics of environmental 

concern in India.” 

ßHkkjr esa i;kZoj.k fo”k;d jktuhfrÞ ij ,d laf{kIr fVIi.kh 

fyf[k,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. In which Article of the constitution the Right to 

Education (2009) Act has been incorporated ?   

f’k{kk dk vf/kdkj vf/kfu;e ¼2009½ lafo/kku ds fdl 

vuqPNsn esa tksM+k x;k gS \ 

2. Article 17 of the constitution deals with the abolition 

of untouchability. (True/False) 

lafo/kku dk vuqPNsn 17 vLi`’;rk fuokj.k ls lEcfU/kr gSA  

    ¼lR;@vlR;½ 

3. Sarkaria Commission was setup to review the relations 

between the center and the state. (True/False) 

ljdkfj;k vk;ksx dh fu;qfDr dsUnz&jkT; lEcU/kksa ij 

iqufoZpkj ds fy, dh xbZ FkhA   ¼lR;@vlR;½ 

4. Which institution replaced the planning commission ?   

fdl laLFkk us ;kstuk&vk;ksx dk LFkku fy;k gS \ 
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5. Family planning programme was introduced in 1951.  

     (True/False) 

ifjokj fu;kstu dk;ZØe dh LFkkiuk o”kZ 1951 esa gqbZA  

    ¼lR;@vlR;½ 

6. When was the first Administrative Reforms 

Commission constituted ? 

izFke iz’kklfud lq/kkj vk;ksx dk xBu dc gqvk \ 

7. NABARD was setup in 1982. (True/False) 

ukckMZ dh LFkkiuk 1982 esa gqbZA  ¼lR;@vlR;½ 

8. India has adopted a mixed economy. (True/False) 

Hkkjr esa fefJr vFkZO;oLFkk dks viuk;k x;k gSA  

    ¼lR;@vlR;½ 

9. Human Development index considers standard of 

living.    (True/False) 

jgu&lgu dk Lrj ekuo fodkl lwpdkad esa lfEefyr gSA  

    ¼lR;@vlR;½ 

10. The first industrial policy of India was declared in 

1948.    (True/False) 

Hkkjr esa izFke vkS|ksfxd uhfr dh ?kks”k.kk 1948 esa dh xbZ 

FkhA    ¼lR;@vlR;½ 
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